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Answer ALL the Questions:

1 Function overloading is also similar to which of the following?

2

10

OBJECT ORIENTED PROGRAMMING WITH C++

SECTION - A (Remembering)

(10 X 1 = 10 Marks)

A. operator overloading B. constructor overloading  C. destructor overloading D. none
function has access to all private and protected members of the class for which it is a

friend.

A. Friend. B. Member. C. Nonmember. D. Void.
A is a variable that receives the value.

A. argument. B. parameter. C. variable. D. array.

is the process of using the same name for two or more functions.

A. Function overloading.

A constructor that accepts

A. one B.Two

C.Three

B. Operator overloading.

C. Default function.

parameters is called the default constructor.

D.No

Destructor has the same name as the constructor and it is preceded by

Al B.?

C.~

D. &

Which of the following gets called when an object goes out of scope?

A.. constructor

B.destructor

C.main

D.virtual function

D.

Constructors.

A function with the same name as the class, but preceded with a tilde character (~) is

called
A. constructor

of that class.
B. destructor

C.function

D. object

used to make a copy of one class object from another class object of the same

class type.
A. constructor

B. copy constructor

Base class is also called as

A. derived

B. sub

C. super

C.destructor

D. default constructor

D. subordinate

SECTION - B (Remembering)

Answer any FIVE Questions:

11
12
13
14
15
16
17

Define Class
Define Methods
Define Array

List out the types of Constructor
Write about Destructor

Define Constructor

List out the types inheritance
SECTION - C (Understanding)

Answer any THREE Questions:
Explain about Class and Object with example
Explain about Constructor with Example
Discuss about Destructor.
Write about copy constructor with explanation
Difference between Constructor and Methods

SECTION - D (Applying)

18
19
20
21
22

Answer any ONE Question:
23 Difference between constructor and destructor
24 Explain about inheritance and its types with example
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Answer ALL the Questions:

1

2

3

10

Answer any FIVE Questions:

11
12
13
14
15
16
17

DATA STRUCTURE

SECTION - A (Remembering)

(10 X 1 = 10 Marks)

What type of memory allocation is referred for linked list? CO2
a) Static b) Secondary c¢) Dynamic d) main
. The for a linked list is pointer variable that locates the beginning of the list. CO2
a) Anchor  b) Base c) Footer d) Header
In linked list each element has field. CO2
a) 4 b) 3 c) 2 d)1
The circular linked list form a circular CO2
a)Ring  b)angle c)Chain d) clock
The data structure required to check whether an expression contains balanced parenthesis is? COos3
a) queue  b)stack c) linked list  d) file
is not a technique of tree traversal. COos3
a) pre-order b) post-order c) prefix d) in-order
Accessing and processing each array elements is called CO3
a) sorting  b) traversing c) searching d) merging
involves maintaining two tables in memory. CO3
a) Arranging b) Bonding c) Combing  d) Chaining
A tree is a finite set of : CO3
a) loops  b)domains. c) functions  d) nodes
In a directed tree any node which has out degree 0 is called a terminal node or CO4

a) atree

b) a list

c) a node

d) a leaf.

SECTION - B (Remembering)

List the attributes of a singly linked list?
List the types of linked lists?
What does a node contain in a linked list?
Define a Leaf node in a tree?

List the types of tree data structures?
List the components of a graph data structure?

Define sorting?

SECTION - C (Understanding)

Answer any THREE Questions:
Discuss briefly on the operations of a singly linked list?
Write a note on the types of linked list with a neat diagram?
Illustrate the search operation using a binary search tree?
Ilustrate the working of bubble sort with an example?
Distinguish Push and Pull operations in stack?

SECTION - D (Applying)

18
19
20
21
22

Answer any ONE Question:
23 Explain the characteristics of stack and its operations?
24 Explain in details the characteristics of linked list and its operations?
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SECTION - A (Remembering)
Answer ALL the Questions: (10 X 1 =10 Marks)
1 Inthe Gauss elimination method for solving a system of linear algebraic equations, CO5
triangularzation leads to
a) Diagonal Matrix b) Lower triangular matrix

10

c¢) Upper triangular matrix d) singular matrix

Using Bisection method, negative root of x3 - 4x + 9 = 0 correct to three decimal placesis CO5

a) -2.506 b) -2.706 C)-2.406 d) -2.206

If population census for the years 1931, 1941, 1951, 1961 and 1971 is given and if we CO5

want to estimate the population for the year 1935 then method is

used.

(a) Forward difference (b) backward difference

(c) Newton’s divided difference (d) Lagrangian

Statistical population may consist of CO5
a) Infinite number of items b) finite number of items c) eitheraorb d) neitheraor b

Which of the following is not an example for primary data Co1
a) Mailed questionnaire b) local correspondence c) indirect oral investigation

d) survey reports in news paper

: rule is applicable only when n is a multiple of 3. Co1
A. Weddle's B. Trapezoideal C. Simpson's 1/3 D. Simpson's 3/8

____isused to denote the process of finding the values inside the interval(X0, Xn). Co1
a.Interpolation. b.Extrapolation. c.lterative. d.Polynomial equation.

The degree of y(x) in Trapezoidal Rule is . Co1
A.l B.2 C.3 D.6

Simpson's one third rule degree is____. Cco1
A.one B.two C.4 D.6

What is the simple arithmetic mean of 15,0,6,0,9? CO2

2)20 b)15 ¢)10 d)60

SECTION - B (Remembering)

Answer any FIVE Questions: (5 X2 =10 Marks)
11 Write procedure to solve Lagrange’s interpolation CO5
12 Write a formula of Newton divided differences CO5
13 List out methods to solve unequal interval CO5
14 Write a formula of find mean Cco1
15 Write a formula of find median Cco1
16 Write a formula of find mode Cco1
17 Write a formula of find Mean Deviation CcO2




Answer any THREE Questions:

19

20

24

SECTION - C (Understanding)

(3 X 6= 18 Marks)

CO5

Co1

Co1

Co1
Co1

CO1

CO2

18 Form divided difference table for the following data
X -2 0 3 5 7 8
Y=f(x) -792 108 =72 48 -144 -252
Find arithmetic mean for following data
X 1 2 3 4 5 6 7
f 5 9 12 17 14 10 6
Find median for following data
X 1 2 3 4 5 6 7 9
f 8 10 11 16 20 25 15 6
21 Write short notes on graphical representation
22 Discuss on mean,median and mode
SECTION - D (Applying)
Answer any ONE Question: (1X 12= 12 Marks)
23 Find Mean,Median for the following data
X 0-10 10-20 | 20-30 30-40 40-50 50-60
f 12 18 27 20 17 6
Find mean deviation for the following data
X 20-30 | 30-40 | 40-50 50-60 60-70 70-80 80-90
f 3 61 132 153 140 51 2
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(10 X 1 =10 Marks)

Answer ALL the Questions:
1 Which level of Abstraction describes how data are stored in the database?
a) Physical level b) View level c) Abstraction level  d) Logical level
2  Referential integrity is directly related to
a) Relation key b) Foreign key c¢) Primary key d) Candidate key
3 The ability to modify a schema definition in a level without affecting a schema definition in another
level is called a) Data instance  b) Data Model  c) Data structure  d) Data independence
4  ER Model belongs to
a) Physical data Model b) Record based logical Model
c) Object based logical Model d) All of above
5  Which forms are based on the concept of functional dependency?
a) INF b) 2NF c) 3NF d) 4NF
6  The number of attributes in relation is called as its
a) Cardinality b) Degree c) Tuples d) Entity
7 is a collection of operations that perform a single logical function in a database application
a) Query b) Transaction c) Primary Key  d) Referential integrity
8 Referential integrity constraints are also called as
a) Functional dependencies b) Subset dependencies
¢) Superset dependencies d) Primary dependencies
9  Third normal form is based on the concept of
a) Closure Dependency b) Transitive Dependency
¢) Normal Dependency d) Functional Dependency
10 Files known to be storing the database itself is called
a) Data dictionary b) MetaData c) Data files d) Indices

SECTION - B (Remembering)

Answer any FIVE Questions:

11
12
13
14
15
15
17

Give the use of Data Definition Language
Define a trigger.
Define referential integrity.
Define Normalization.
List the types of normal forms.
Expand RAID.
What is meant by data dictionary?
SECTION - C (Understanding)

Answer any THREE Questions:

18
19
20
21
22

Write a note on the basic structure of SQL.
Distinguish between domain constraints and integrity constraints.
Write a brief note on embedded SQL.
Discuss on the physical storage media.
Brief a note Functional dependencies?
SECTION - D (Applying)

Answer any ONE Question:

23
24

Explain in detail about the features of SQL and give examples on DDL commands.

Explain in detail Normalization and its types.
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SECTION - A (Remembering)
Answer ALL the Questions: (10 X 1 =10 Marks)
1 What is the value of the index for the first element in a VB.NET array? CO2
a)0 b) 1 c) 2 d)3
2 Which method will return the number of elements in an array? CO2
a) Dimension b) Length c) Number. d) Size.
3 What is the syntax of dynamic array? CO2
a) Dim Array_name(new_size) b) Redim Array_name(new_size)
c) Dim Array_name(size) d) Redim Array_name(size)
4 How many types of array? CO2
a) 2 b) 4 c)3 d)5
5 Which of the following language was developed as the first purely object programming COos3
language?
a) SmallTalk b)C++ c)Kotlin d)Java
6 Which among the following feature does not come under the concept of OOPS? COos3
a) Data binding b) Data hiding c) Platform independent  d) Message passing
7 Which functions are declared inside a class have to be defined separately outside the class? COs3
a) Static function b) Const functions ¢) Inline function d) Member function
8 How many types of access specifies are provided in OOP (C++)? COos3
a) 4 b) 3 c)2 d)1
9 The point at which an exception is thrown is called the . COos3
a) Default point b) Invoking point c) Calling point d) Throw point
10 ASP was introduced in? CO4
a) 1997 b) 1998 c) 1999 d) 2000
SECTION - B (Remembering)

Answer any FIVE Questions: (5 X 2 =10 Marks)
11 Define Events. CO2
12 What do you mean by Scroll Bar Control? CO2
13 What is Array? Cco2
14 Define Class. CO3
15 What polymorphism? COs3
16 Define Inheritance. COo3
17 Explain about Delegates CO4

SECTION - C (Understanding)

Answer any THREE Questions: (3 X 6= 18 Marks)
18 Explain the Date Time Picker in VB.NET. CO2
19 Discusses about the Boxing and Unboxing COo3
20 Write a VB.NET program Armstrong number or not. COos3
21 Discusses about constructor COos3
22 Explain the function with example. COs3

SECTION - D (Applying)

Answer any ONE Question: (1X 12= 12 Marks)
23 Write a string manipulation program using vb.net windows application. COo3
24 Discuses about Exception Handling with example. CoO4
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Answer ALL the Questions:

1

10

Answer any FIVE Questions:

11
12
13
14
15
16
17
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SECTION - A (Remembering)

(10 X 1 = 10 Marks)

If the value of derivative is required near the middle of the table we use one of the nterpolation CO3

formulas

a. Newton Forward Interpolation Formula. b.Central Difference Formula.
c.Newton Forward Difference Formula.  d.LaGrange’s Interpolation Formula.
An unequal intervals, wecanuse __ to get the derivative value.

a.Newton Forward Interpolation Formula. b.Newton Backward Interpolation Formula.

c.Newton Forward Difference Formula.  d.LaGrange’s Interpolation Formula
defines as “the art of reading between the lines of a table.”
Extrapolation (b) Divided difference (c) Lagrange’s (d) Interpolation

If population census for the years 1931, 1941, 1951, 1961 and 1971 is given and if we
want to estimate the population for the year 1935 then method is
used.

(a) Forward difference (b) backward difference

(c) Newton’s divided difference (d) Lagrangian

. rule is applicable only when n is a multiple of 3.

A. Weddle's B. Trapezoideal C. Simpson's1/3 D. Simpson's 3/8
____isusedto denote the process of finding the values inside the interval(X0, Xn).
a. Interpolation. b.Extrapolation. c.lterative. d.Polynomial equation.
The degree of y(x) in Trapezoidal Rule is

Al B.2 C.3 D.6

Simpson's one third rule degree is____.

A.one B.two C.4 D.6

What is the value of factorial Zero (0!)?

A0 B.1 C.2 D.3

Gauss Jacobi method is a :

A.direct B.self correcting C.stepbystep D. indirect

SECTION - B (Remembering)

Write procedure to solve Lagrange’s interpolation
Write a formula of Newton divided differences
List out methods to solve unequal interval

Write a formula of Trapezoidal Rule

Write procedure to solve Romberg’s method
What is the procedure to apply Simpson’s 3/8 rule
How to solve Gauss Elimination method?
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SECTION - C (Understanding)

Answer any THREE Questions: (3 X 6= 18 Marks)
18 Form divided difference table for the following data COos3
X -2 0 3 5 7 8
Y=f(x) -792 108 72 48 -144 -252
19 fol 1j%solve the equation using Trapezoidal method where h=0.2 Cco4
20 Evaluate f_33 x4 dx using Simpson’s 1/3 rule where h=1. CO4
21 Evaluate f_33 x4 dx using Simpson’s 3/8 rule where h=1. CO4
22 Evaluate | 01 % using Romberg’s method where h=0.5. Cco4

SECTION - D (Applying)

Answer any ONE Question: (1X 12= 12 Marks)
23 ) 06 i—xxsolve the equation using Trapezoidal rule, Simpson’s rule both where h=1 CO4
24 Solve the system of equations by Gauss Elimination method Co1

2x+3y—z=5;4x+4y—3z2=3; 2x—3y+2z2=2
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Answer any FIVE Questions:
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SECTION - A (Remembering)

is network of networks.

A.Internet  B. Intranet  C. Extranet D. Arpanet

WWW stands for .

A. World Wide Weapon B. World Wide Windows  C. World Wide Web

D. World Wide Writers

HTTP stands for :

A. Hypertext Transfer Protocol B. Hypertext Transmission Protocol

C. Hyper Text Transfer Program D. Hypertext Traditional Protocol

Which of the following is correct about JavaScript?

A. JavaScript is a lightweight, interpreted programming language.

B. JavaScript has object-oriented capabilities that allows you to build interactivity into
otherwise static HTML pages.

C. The general-purpose core of the language has been embedded in Netscape, Internet
Explorer, and other web browsers.

D. All of the above.

Which built-in method returns the string representation of the number's value?

A - toValue() B - toNumber() C - toString() D - None of the above.

Where is the correct place to insert a JavaScript?

a) The <head> section b)The <body> section

c) The <title> section d) Both the <head> section and the <body> section are
correct

How do you write "Hello World" in an alert box?

a) alertBox("Hello World"); b) msg("Hello World");

c) alert("Hello World"); d) msgBox("Hello World");

How do you create a function in JavaScript?

a) function myFunction(){ statements} b) function = myFunction() { statements}
¢) function:myFunction() { statement } d) function:: myFunction() { statements }
How do you call a function named "myFunction™?

a) myFunction(); b) function:myFunction();  c) call myFunction();

d) call function myFunction();
Which is conjunction operator in javascript?
a+ b)) & d)*

SECTION - B (Remembering)

Which tag give the information to browser embedded with HTML
How to create javascript variable name?

(10 X 1 = 10 Marks)
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13 How to display a text in browser using javascript? CO2

14 How do you find length of javascript Array? COos3
15 Define operators COos3
16 List out any four javascript build-in functions CO3
17 List any four php datatypes CO4

SECTION - C (Understanding)

Answer any THREE Questions: (3 X 6= 18 Marks)
18 Discuss on javascript datatypes and literals CO2
19 Write a procedure to save and run a javascript file COos3
20 Write a short notes on javascript operators COos3
21 Write a short notes on simple if else statement using javascript COos3
22 Discuss on text and password javascript dom elements CO3

SECTION - D (Applying)

Answer any ONE Question: (1X 12= 12 Marks)
23 Discuss on javascript dialog boxes COos3
24 Write a php program to check palindrome or not CO4
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Answer ALL the Questions:

1

2

3

10

Answer any FIVE Questions:

11
12
13
14
15
16
17

Answer any THREE Questions:

18
19
20
21
22

Answer any ONE Question:

23
24
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SECTION - A (Remembering)

Control flow testing is type of testing
a) Black box  b) White box c¢) Sand Box  d) Clean room
Junction node in a control graph is a point where atleast links meet
a)5 b) 3 c)4 d)7

coverage refers to executing individual program statements and observing the outcome
a) Selection Path  b) Statement ~ c) Branch  d) Predicate
An is a collection of all data entities read by the routine whose values are fixed prior to
entering the routine. a) Input vector  b) output vector c) predicate d) Path predicate

IS an outgoing edge from a node.
a) Leafnode b)Branch  c)root node d) statement
uses the control flow graph to detect illogical things that can interrupt the flow of data

a) Data flow testing  b) Control flow  c) Unit testing d) system testing

flow testing is performed by analyzing the source code and not by executing the source
code a) Dynamic b) Static c) Recursive  d) Branch
How many fundamental actions associated with a variable in data flow testing?
a) 4 b) 2 c)3 d)5

error occurs when a specific input data causes the program to execute the correct
a) domain  b) Computation c)data  d) memory

is a set of values for which the program performs identical computations

a) variable  b) constant c) linear function d) domain

SECTION - B (Remembering)

Define program path?
Define a control flow graph?
List the well-known path selection criteria?
What is meant by cyclomatic complexity?
List the types data flow anomalies?
List the types of domain errors?
Define integration testing?
SECTION - C (Understanding)

Discuss briefly the process of generating test input for control flow testing?
Write a note on statement coverage criterion?
Illustrate the predicate coverage criterion with a neat flow diagram?
Write a note on test selection criterion for domain testing?
Brief a note on types of interfaces?
SECTION - D (Applying)

Explain the control flow testing and path selection criteria?
Explain in details the types of interface errors?

&&&& &S

(10 X 1 = 10 Marks)

CO2

CO2

CO2

CO2

CO3

CO3

CO3

CO3

CO3

CO4

(5 X 2 =10 Marks)

CO2
CO2
CO2
CO3
CO3
CO3
CO4

(3 X 6= 18 Marks)

CO2
CO3
CO3
CO3
CO3

(1 X 12=12 Marks)

CO3
CO4




VIVEKANANDA COLLEGE, TIRUVEDAKAM WEST - 625234

DEPARTMENT OF COMPUTER SCIENCE

Course Code:  10SB62 Programme: ls.CiSecr.lc((Zeomputer CIA: II
Date: 03.03.2023 Part: v Semester: VI
Duration: 1 Hour Academic Year: 2022-23 Max. Marks: 25
Study Component: Skill Based

SECTION - A
Answer ALL the Questions:

(5 X1 =5 Marks)

1 There are types of computer virus. CO4
a)5 b) 7 c) 10 d) 12

2 A computer is a malicious code which self-replicates by copying itself to other ~ CO4
programs.
a) program b) virus c) application d) worm

3 Which of the following is not a type of virus? CO4
a) Boot sector b) Polymorphic c) Multipartite d) Trojans

4 What is data encryption standard (DES)? CO5
a) block cipher b) stream cipher c) bit cipher d) byte cipher

5 In cryptography, the order of the letters in a message is rearranged by CO5

a) transpositional ciphers b) substitution ciphers

¢) both transpositional ciphers and substitution ciphers d) quadratic
SECTION-B
Answer any TWO Questions:

6 Define Virus

7 What is meant by Trojans?

8 Define worm

9 Define Cryptography.
SECTION-C

Answer any ONE Question:
10 Write about the types of virus
11 Describe about the Cryptography and Encryption Techniques

SECTION-D
Answer any ONE Question:
12 Explain about the different between virus and worm
13 Explain the MD5 Algorithm
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